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39. BAI, KEEW 2 MRBIPIRA 4B S ETMBANFRELL L L
gg@»é eg%m =AMB(A >0,0 HH%0) ,RE M B HE, I
4. B804 = (2,1),08 = (1,7),08 = (5,1) ;0D == 04,y =DB - Dl(x.y

R).
(D)3R y =/(x) BT L.
(2)FR P(x,y) MR y =f(x) LiB3H, REAE 1 <x<2 Sl FHIRAME.

(3)iBy =f(x) ME R AR a = ( -2,8) FBEBIMLE C, , FLIFFRK O
LMON 8 faet, 3R y, HIR{EHEE.

BN mEe=ak
QUG 4in m AL iR D
—JEEE
ClLEHA=ALFHBAN A F1 B, W sindsinB £ )

A BRAM S FRMIO B ARk EER/MA
C MEMAMEEAME D ARKM | EEA/M

C2. % acosA =beosB, M| AABC —5E = ¥
ASE=fF B. Hfi=fa¥
C.HEHEM=ME D. BE=fEREM=AF

C3. 7 AABC #1,A > B, FHIMA RS R PR EF AR ()
A.sind >sinB  B.cosA <cosB C. sin24 > sin2B D. cos24 < cos2B

C4. TEAABCH , E(a-c)(a+c) =b(b+c) ,MA%TF t: 3
A.30° B. 60° C.120° D. 150°



12 = &5 &

DS.EAABC'-?AA’B’C"P,%MB;C< cosBIZ—C',F!'J )

A.B-C>B'-C' B.1B-Cl>1B'-C'|
C.B-C<B' =C' D.IB-Cl<IB' -C'|

C6. TEAABC 1, FHI =R :Osin(A + B) + sinC; Dcos (B + C) + cosA;
@ran 3 Bian £ @eos Z3Coec SN MBMR ()
A.O@ B.Q® C.O® D.@®

C7. 7 AABC #,C =90°, 1 sin(A - B) +cos2A4 = .

Cs. ZEAABCH ,BHa=10,4=30°,B=120°, 10} S, =
©9. & A R AABC I BUMA, B cosd =221 1 o MR HTE R :

O10. ENSE= AT+ TAREL N os WEMA WAL :

S BEDEA ST

MIEJLAERERE , BN IE REXEHENEESHEA F RERHR;
S5M=AEAXNRBEERE, BALRARLSERELARX, REREHE
R R =AER = AMREENANEERE EILERNREENER
¢ B IE RIZEHENBERAEN. BEPHRX=ZARNRERER
TRAZE, BEITHE, U ERXERONA ZAESERIES ,EH
%ggjgg%ﬁg#’aﬁ,ﬂEﬁJ%#’ﬁ'ﬂfﬂyﬂﬂlﬁﬂi?:\Zﬁimﬁﬂlﬁﬁu

& 20 y —
DS AT, RS

(1) (1993 £ 2 E ) EX 29 30m NEF HPREE,QE—TREX
R, SOMNENNXERER, EEBBEINEN 120°, SEXREERSE
B 12, UESENA m ({552 0. 1m).

[ZE] 17.3m

(BHT) BEARPAHRTRAGEE BFXREALNALAZAY, T
& h =30cot60° =103 =17. 3m.

gﬁm EEUFAER, FEEE=ARBNESHEA=AL PN

(BI2] (2000 4 £ ) ZE=FBTE ABC P ,y2sind = Bcosd M 2A=__
[ER] A=60°
[¥8#7) 2sin®A =3cosd, 2(1 - cos’A) =3cosA(2cosd —1) (cosd +2) =0,

FF2A cosd =%,A =60°.
(B3] (1995 £ £ H ) EER=AEDPMEN A F B, N sindsinB




& /LT 13

A BERAE TRIVEO B. BEAE, BLBI\E
C BRBA RO D. BEAE | BEMIVE

(#47) B% A+B =T sindsinB = [ cos (4 - B) - cos (4 +B)] =

—-cos(A B), 2= Brc g~ B< ,m 0<cos(A-B) <1, sindsinB &

2
ik{iii'l‘
[ R A T RN AR R KB B X ) A R (4] &
(Pﬁﬂg 7(91998 #2H) —TERA=AP=NANEXENFLIHI, HR/I)\A

A.arccos%-l- B.msin@ C.amcosl—_zé l;ﬁ
[BE=R] B
[$#T) % sina, cose, 1 K% b, R 1 - sin’a = sina, #4F sina =£2_l

D. aresin

 sina =;@(§>) Fivka= msin@,&ﬁi& B.

[RR]AEBEAEET HA=SABNER SHLE . =A% K=4
TTRBR SRR, AT BRR R B LR

(BU5] (2000 IR . RM) & «,8 E—THA=AEORTEHA, TIIOT
AEAPARERDZ

A. tanatang < 1 B. sina +sinB8 <2
C. cosa + cosB > 1 D.%tan(a+ﬁ)<tan%§
[B=] D

[BT) 1:BREzdEAl,Za= ﬂ!'10<a< ,0<tan<1, 0 <1 —tan’a
<l

ﬂ)@%tan(aﬂ?) =%tan2a-l tatn —— > tana = tani'%g

BEZAA a+ﬁ<%,fﬁ')&(a<?—ﬁ

tana,#.[o,-g-] R H R, P VA tana <tan(%—ﬁ) =cotf

FffvA tanatanB < tanBcotB =1, FryA A JE.
FALF 7 E—.
(Pl6] (1998 £ £ E ) FE AABC P,a,b,c DEIEMA,B,C BN, R a+c=

2b, A -c=%,sk sinB BY{E.

(mx] 42




